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L=y IIL—4 EIEl 414 500m LAP 1000m LAP e
BIFOUTLRAL| 1 | HEBEIZER < 28>
No. 2 | HEER =
1 | FEAM 3 | EHEEK < Kk >
9A14H (%) 4 | BEIXESK <WURES
8:30 5 | EAEK < alg >
ENY 1o 6
BFOUTIILARAL | 1
No. 2 | EAEK < FE >
2 |F:EB#MH 3 | HEE® < @A >
9A14H (1) 4 | BEREESK < B >
8:38 5 | EAEK CGEEED
ERY 1o 6
BFOUTIILARAL | 1
No. 2 | EAEK < e >
3 |F#ECH 3 | EHEEK < W >
9A14A (1) 4 | EAEK < A >
8:46 5 | AEIXEK <IWWARY>
ENY 1o 6
BFUTILAAIL | 1
No. 2 | BEEEK < BE >
4 | FEAM 3 | EHEEK < AE >
9A14A0 (1) 4 | EAEK < EK D
8:54 5 | HEBEIXSEKR < FIl >
MY 2N 6
BFUTILAAIIL | 1
No. 2 | HEIXSK < & >
5 |F:&EB#H 3 | BEEEK < BXR D>
9A14H (1) 4 | BEEK < BBAR D
9:02 5
EAY 2,84 6
BFETILAAIL 1 | HBEIEERKC
No. 2 | HEIEEKA
6 |iRRE I 3 | HEEERKA
9A14H (1) 4 | EAEK
9:10 5 | BSkB
— 6 | HAEIXEKB
TFATILRAIL 1
No. 2
7 [REE I 3 | EAEK
9A14H (1) 4 | BEER
9:18 5
— 6
BFRFAIFIELTIL] 1
No. 2 | EFEEKA
8 |iRRE I 3 | HBEIXERK
9A14H (1) 4 | BIEERB
9:26 5 | EAEK
— 6
TFRFEMAIFRLTIL] 1
No. 2 | EAER
9 |iRRE I 3 | BERESK
9A14H (1) 4 | BEEE
9:34 5
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L=y I —% EIE T-ne4n 500m LAP | 1000m LAP It
BFOUTILAAIL | 1
No. 2 1000mL—Z
10 |BR&18;EDE 3 EEED-EME
9of14B (%) | 4 FYBA LIETT
10:50 5 SX1LEAY
EHY 1A 6
BFOUTILAAIL | 1
No. 2 1000mL—2
1 (BREEEEM 3 BE#ED B4R
9of14B (%) | 4 FYBA LIBETT
10:55 5 SX1LEAY
LAY 1A 6
BFUTILAAIL | 1
No. 2
12 |MEEECH 3 _
9B14B (1) | 4 1000mb—2
11:00 5
LAY 2/nd 6
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R BEC
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TFIUTILRAIL

R B
98158 (AH)
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15

BEFOUTILAAIL

REB
9815H(H)
8:46

No.

16

TFIUTILRAIL

R A
9815H(H)
8:54

No.

17

BFOUTILARAIL

R A
9815H(H)
9:02

No.

18

TFETILRAAIL

REE T
9815H(H)
9:10
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BFHTILAAIL

REE T
9815H(H)
9:18
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TEFRFEMIARILTIL

R O
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BFRFMAIFRLTIL

REE O
9A15H(A)
9:34
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